> Instructions

Thule RideAlong Lite
100109, 100110, 10011

nnnnnnnnn

Bring your life
5560065001 thule.com

https:/itm.by
= v MHTepHeT-marasvH TM.by



EN Child bike seat

DE Fahrradkindersitz

FR Siege vélo enfant

NL Fietszitje

IT Seggiolino da bici

ES Portabebés bici

PT Cadeira de crianga para bicicleta
SV Cykelbarnstol

DK Cykelstol

NO Barnesete til sykkel

Fl  Polkupyoran lastenistuin

ET Jalgratta lasteiste

LV Velosipéda bérnu sédeklis
LT Duviracio keduté vaikams

PL Fotelik rowerowy

RU [leTckoe BenocunegHoe craeHse
UK [utade BenocunefHe Kpicno
BG [letcko cTornde 3a Besocunnes,
CS Détska cyklosedacka

SK Detska cyklosedacka

SL  Otroski kolesarski sedez
HR/BIH Djecja sjedalica za bicikl

RO
HU
EL
TR

ZH
JA
KO
TH

Scaun de copii pentru bicicleta
Kerékparos gyerekullés
Moudiko kBiopo todnAdtou
Cocuk bisiklet koltugu
T77 0moIX X0 HE
Jiklds) paia AR
JLE F AT 2R R
BREHY A 70— b
O{ZI0| RAFTHH AIE
imBSnamMILIngEIL

ASTM F1625-00 | EN 14344:2004

Instructions Safety

2
https:/itm.by
= v MHTepHeT-marasvH TM.by
E

MM ONLINE STOR

Mox44
M6x1.7" X4

[O)musmmmunn
M6x58
M6x2.3” X4

5560065001



°
v Europe & USA & l 2 Your Key-Number
FIT rest of the | Canada T /
world
9-72 M 9-72 M <
ﬁ i 9-22 kg 9-18 kg qu FIT ﬁ 42’9\
20-48,51bs | 20-40 lbs
0-9 M
[ rhois |
A\ s
Check your bike: A2 1Ep
Circular Oval Triangular Square
/
Vi @ ‘ Xrorm A\
@ 28-40 mm Max 40 mm
@1,0-1,57" Max 1,57"

> 15cm

@@é?@

Max. 25 km/h
15 mph

¥

5560065001

TMhy

MM ONLINE STOR

https:/itm.by
MHTepHeT-marasvH TM.by



5560065001

4

Viby

MHTepHeT-marasvH TM.by

https:/itm.by

T



https:/itm.by
= v MHTepHeT-marasvH TM.by



1

@& 272-40 mm 40x55 mm
@1.07-157” 1.57-216”
Mox44 M6x58
Mo6x1.7” M6x2.3”

5560065001

https:/itm.by
MHTepHeT-marasvH TM.by



&' S <
= —40 mm (1.57”)
80 mm (3.14”)

0000000000

https:/itm.by
= v MHTepHeT-marasvH TM.by



*max 100 mm
max (3.94”)

*DE max O mm

v

8 5560065001

https:/itm.by
= v MHTepHeT-marasvH TM.by



https:/itm.by
= v MHTepHeT-marasvH TM.by






H TM.by

https://tm.by
WHTepHeT-marasu

STOHEv

5560065001
MO NLINE



450400 G (x4)
450600 G (x6)
450800 WWp (x8)

[ [ [ [ |
AR T %& JQ 451200 Gy (x12)

v Thule Sweden AB, Borggatan 5, 335 73 Hillerstorp, SWEDEN [@ info@thule.com rm thulecom
“ Thule Inc., 42 Silvermine Road, Seymour, Connecticut 06483, USA Phone: 800-238-2388 [ . )
» PART OF THULE GROUP © Thule Group 2020. All rights reserved. 5560065001

https:/itm.by
= v MHTepHeT-marasvH TM.by
E

MM ONLINE STOR





